Charles Crabtree output

A:\>pa2-crabtrcm < c:\temp\p2goodin.txt

     -WELCOME-

THIS PROGRAM STORES AT MOST 35 INTEGERS IN AN ARRAY.

THE USER MUST INPUT FIVE 3 DIGIT INTEGERS THAT ARE NOT

SEPARATED FROM EACH OTHER. THE PROGRAM WILL PRINT OUT

THE INTEGERS IN AN ARRAY FORM AND THEN FIND THE MAX

AND ITS POSITION, THE MIN, THE AVERAGE, AND THEN SORT

THE ARRAY IN ASCENDING ORDER.  ONCE THAT IS DONE IT

WILL PRINT IT OUT AGAIN AND THEN FIND THE POSITION OF

MAX VALUE.

PLEASE ENTER YOUR INTEGERS...

ALL THE DATA HAS BEEN READ AND HERE IS AN OUTPUT OF

THE DATA IN THE ARRAY.

666 616   0   0   0   0   0

555 323   0   0   0   0   0

444 345   0   0   0   0   0

333 456   0   0   0   0   0

222 987   0   0   0   0   0

MAXIMUM NUMBER: 987 AT ROW:   5 IN COLUMN:   2

MINIMUM NUMBER:   0

THE AVERAGE OF ALL THE NUMBERS IS: 494.70

NOW THE ARRAY IN ASCENDING ORDER FOR EACH COLUMN:

222 323   0   0   0   0   0

333 345   0   0   0   0   0

444 456   0   0   0   0   0

555 616   0   0   0   0   0

666 987   0   0   0   0   0

AFTER ASCENDING ORDER:

MAXIMUM NUMBER: 987 AT ROW:   5 IN COLUMN:   2

THE PROGRAM HAS FINISHED!

A:\>pa2-crabtrcm < c:\temp\bad.txt

The system cannot find the file specified.

A:\>pa2-crabtrcm < c:\temp\p2bad.txt

     -WELCOME-

THIS PROGRAM STORES AT MOST 35 INTEGERS IN AN ARRAY.

THE USER MUST INPUT FIVE 3 DIGIT INTEGERS THAT ARE NOT

SEPARATED FROM EACH OTHER. THE PROGRAM WILL PRINT OUT

THE INTEGERS IN AN ARRAY FORM AND THEN FIND THE MAX

AND ITS POSITION, THE MIN, THE AVERAGE, AND THEN SORT

THE ARRAY IN ASCENDING ORDER.  ONCE THAT IS DONE IT

WILL PRINT IT OUT AGAIN AND THEN FIND THE POSITION OF

MAX VALUE.

PLEASE ENTER YOUR INTEGERS...

INCORRECT INPUT

THE PROGRAM HAS FINISHED!

A:\>pa2-crabtrcm < c:\temp\p2full.txt

     -WELCOME-

THIS PROGRAM STORES AT MOST 35 INTEGERS IN AN ARRAY.

THE USER MUST INPUT FIVE 3 DIGIT INTEGERS THAT ARE NOT

SEPARATED FROM EACH OTHER. THE PROGRAM WILL PRINT OUT

THE INTEGERS IN AN ARRAY FORM AND THEN FIND THE MAX

AND ITS POSITION, THE MIN, THE AVERAGE, AND THEN SORT

THE ARRAY IN ASCENDING ORDER.  ONCE THAT IS DONE IT

WILL PRINT IT OUT AGAIN AND THEN FIND THE POSITION OF

MAX VALUE.

PLEASE ENTER YOUR INTEGERS...

ALL THE DATA HAS BEEN READ AND HERE IS AN OUTPUT OF

THE DATA IN THE ARRAY.

666 616 -12 111 212 987   0

555 323 -35 222 434 212   0

444 345 -42 333 454 432   0

333 456 -91 444 567 345   0

222 987 -23 555 456 798   0

MAXIMUM NUMBER: 987 AT ROW:   5 IN COLUMN:   2

MINIMUM NUMBER: -91

THE AVERAGE OF ALL THE NUMBERS IS: 376.87

NOW THE ARRAY IN ASCENDING ORDER FOR EACH COLUMN:

222 323 -91 111 212 212   0

333 345 -42 222 434 345   0

444 456 -35 333 454 432   0

555 616 -23 444 456 798   0

666 987 -12 555 567 987   0

AFTER ASCENDING ORDER:

MAXIMUM NUMBER: 987 AT ROW:   5 IN COLUMN:   2

THE PROGRAM HAS FINISHED!

A:\>

I found:

14, 17

